Data for: 12/08/2024 5:00:00 AM to 12/22/2024 4:59:59 AM

i .	Data for: 12/	08/2024 5:00:00 A	M to 12/22/2024 4:	:59:59 AM	
, Evan					
Job Title		Pay Rate			tal
			Total	0.00	\$0.00
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$0.00
			Avg Payrate		\$0.00
, Trainir	ng				
Job Title		Pay Rate	Н	ours To	tal
			Total	0.00	\$0.00
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$0.00
			Avg Payrate		\$0.00
Araujo,	Miguel				
Job Title		Pay Rate	Hours	Total	
	OC - Cook	•	\$26.00	23.44	\$609.47
			Total	23.44	\$609.47
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$609.47
			Avg Payrate		\$26.00
Balistre	ri, Samuel				
Job Title	iii, sainaei	Pay Rate	Но	urs Tota	ı
1100	OC - Bartender	. uyuc	\$8.00	5.18	\$41.40
			Total	5.18	\$41.40
	Sales: \$220.27		Claimed Tips		\$42.00
	Credit Tips: \$42.00		Gratuity		\$0.00
	•		Grand Total		\$83.40
			Avg Payrate		\$16.12
Barber,	Emily				
Job Title	Lilliy	Pay Rate		lours To	otal
JOD TILLE	OC - Bartender	ray Nate	\$15.00	0.08	\$1.25
	OC - Bartender		Total	0.08	\$1.25
	Sales: \$537.74		Claimed Tips	0.00	\$14.60
	Credit Tips: \$14.60		Gratuity		\$0.00
			Grand Total		\$15.85
			Avg Payrate		\$190.20
Raumar	nn, Abby		<u> </u>		
Job Title	iii, Abby	Pay Rate	ш	ours Tota	NI.
JOD TILLE	OC - Server	ray Nate	\$7.25	9.63	\$69.79
	00-361061		Total	9.63	\$69.79
	Sales: \$809.35		Claimed Tips	3.03	\$103.81
	Credit Tips: \$103.81		Gratuity		\$0.00
			Grand Total		\$173.60
			Avg Payrate		\$18.03
Bildor '	Danielle				
	Danielle	Day Data	II.a	Taka	.1
Job Title	OC - Server	Pay Rate	\$7.25	urs Tota 4.25	\$30.84
	OC - Server		۶۲.25 Total	4.25 4.25	\$30.84 \$30.84
	Sales: \$156.35		Claimed Tips	4.23	\$30.84 \$10.50
	Credit Tips: \$10.50		Gratuity		\$0.00
	C. C. C. 11p3. 910.30		Grand Total		\$41.34
			Avg Payrate		\$9.72
Dame	Mandy				75.72
	, Mandy	D D-4			4-1
Job Title		Pay Rate			tal
	Sales: \$0.00		Total	0.00	\$0.00 \$0.00
			Claimed Tips		
	Credit Tips: \$0.00		Gratuity Grand Total		\$0.00 \$0.00
			Avg Payrate		\$0.00
			Avg Fayrate		30.00
Clasen,	Justin			ours Total	
Clasen, Job Title		Pay Rate			
	OC - Kitchen Manager	Pay Rate	\$19.00	8.78	\$166.73
	OC - Kitchen Manager	Pay Rate	\$19.00 Total		\$166.73 \$166.73
	OC - Kitchen Manager Sales: \$0.00	Pay Rate	\$19.00 Total Claimed Tips	8.78	\$166.73 \$166.73 \$0.00
	OC - Kitchen Manager	Pay Rate	\$19.00 Total Claimed Tips Gratuity	8.78	\$166.73 \$166.73 \$0.00 \$0.00
	OC - Kitchen Manager Sales: \$0.00	Pay Rate	\$19.00 Total Claimed Tips	8.78	\$166.73 \$166.73 \$0.00

Job Title					
		Pay Rate		ours Total	
	Sales: \$0.00		Total	0.00	\$0.00 \$0.00
	Credit Tips: \$0.00		Claimed Tips Gratuity		\$0.0
	credit Tips. 30.00		Grand Total		\$0.0
			Avg Payrate		\$0.0
Drinan,	Max				
lob Title		Pay Rate		ours Total	
	Sales: \$0.00		Total Claimed Tips	0.00	\$0.00 \$0.00
	Credit Tips: \$0.00		Gratuity		\$0.0
	Cicuit iipoi voico		Grand Total		\$0.0
			Avg Payrate		\$0.0
Drinan,	Owen				
Job Title		Pay Rate		ours Total	
			Total	0.00	\$0.0
	Sales: \$0.00		Claimed Tips		\$0.0
	Credit Tips: \$0.00		Gratuity Grand Total		\$0.0
			Avg Payrate		\$0.00 \$0.00
Eriday T	Trictan		7.08 . 47.440		+ + 0.0.0
Friday, T Job Title	iistaii	Pay Rate	Hours	Total	
	OC - Cook		\$18.00	12.21	\$219.8
			Total	12.21	\$219.8
	Sales: \$0.00		Claimed Tips		\$0.0
	Credit Tips: \$0.00		Gratuity		\$0.0
			Grand Total		\$219.8
			Avg Payrate		\$18.00
Garcia, S	Sergio		E.		
Job Title	Default Job Code	Pay Rate	\$0.00	lours Total 20.75	SO.00
	Delault Job Code		Total	20.75	\$0.00
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$0.0
			Avg Payrate		\$0.00
Glisic, Ca	assidy				
Job Title		Pay Rate	Hou		
	OC - Server		\$7.25	15.26	\$110.6
	Sales: \$1,948.40		Total Claimed Tips	15.26	\$110.6
	Credit Tips: \$269.66		Gratuity		\$0.0
			Grand Total		\$380.3
			Avg Payrate		\$24.92
Gorsege	. Cristal				
Job Title	,	Pay Rate	Ho	urs Total	
	OC - Bartender		\$10.00	6.41	\$64.07
			Total	6.41	\$64.07
	Sales: \$303.68		Claimed Tips		\$10.00 \$0.00
	Cradit Time, \$10.00				
	Credit Tips: \$10.00		Gratuity Grand Total		
	Credit Tips: \$10.00		Grand Total		\$74.0
Grensay	•				\$74.0
	itch, Mary	Pav Rate	Grand Total Avg Payrate	ours Total	\$74.0° \$11.5
	•	Pay Rate	Grand Total Avg Payrate	ours Total	\$74.07 \$11.56
	•	Pay Rate	Grand Total Avg Payrate Ho		\$74.07 \$11.50 \$0.00
	itch, Mary	Pay Rate	Grand Total Avg Payrate Ho Total Claimed Tips Gratuity		\$74.0° \$11.5° \$0.0° \$0.0° \$0.0°
	itch, Mary	Pay Rate	Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total		\$74.0° \$11.5° \$0.0° \$0.0° \$0.0° \$0.0°
Job Title	Sales: \$0.00 Credit Tips: \$0.00	Pay Rate	Grand Total Avg Payrate Ho Total Claimed Tips Gratuity		\$74.0° \$11.5° \$0.0° \$0.0° \$0.0° \$0.0°
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00		Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00	Pay Rate Pay Rate	Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 ours Total	\$74.0 \$11.5 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00		Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total Avg Payrate Ho Total	0.00	\$74.0° \$11.5° \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00 y, Mitch		Grand Total Avg Payrate Hotal Claimed Tips Grand Total Avg Payrate Hotal Claimed Tips	0.00 ours Total	\$74.0° \$11.5° \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00		Grand Total Avg Payrate However the second of the second	0.00 ours Total	\$74.0 \$11.5 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00 y, Mitch		Grand Total Avg Payrate However the second of the second	0.00 ours Total	\$74.0° \$11.5° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0°
Job Title Gurlusky Job Title	Sales: \$0.00 Credit Tips: \$0.00 y, Mitch		Grand Total Avg Payrate However the second of the second	0.00 ours Total	\$74.0° \$11.5° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0° \$0.0°
Gurlusky Job Title	Sales: \$0.00 Credit Tips: \$0.00 y, Mitch	Pay Rate	Grand Total Avg Payrate Ho Total Claimed Tips Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 ours Total 0.00	\$74.0° \$11.50° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00°
Job Title Gurlusky	Sales: \$0.00 Credit Tips: \$0.00 y, Mitch		Grand Total Avg Payrate Hotal Claimed Tips Grand Total Avg Payrate Hotal Claimed Tips Grand Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Durs Total 0.00 Durs Total	\$74.0° \$11.5° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00°
Gurlusky Job Title	Sales: \$0.00 Credit Tips: \$0.00 y, Mitch	Pay Rate	Grand Total Avg Payrate Ho Total Claimed Tips Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 ours Total 0.00	\$74.0° \$11.50° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00° \$0.00°

			Grand Total		\$0.00
_			Avg Payrate		\$0.00
lohnson	, Maddy				
ob Title		Pay Rate		ours Total	\$0.00
	Sales: \$0.00		Total Claimed Tips	0.00	\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
	отошто търга у стоо		Grand Total		\$0.00
			Avg Payrate		\$0.00
Kemnitz	. Caleb				
ob Title	,	Pay Rate	Но	ours Total	
	OC - Busser		\$0.00	5.31	\$0.00
			Total	5.31	\$0.00
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00 \$0.00
			Grand Total Avg Payrate		\$0.00
/limb NI	lala		Avg Faylate		30.00
Klink, Ni	ICK				
ob Title		Pay Rate	Total	ours Total 0.00	\$0.00
	Sales: \$0.00		Claimed Tips	0.00	\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$0.00
			Avg Payrate		\$0.00
(rentz, S	Sami				
ob Title		Pay Rate	Hou	rs Total	
	Food Runner	•	\$13.00	3.57	\$46.36
			Total	3.57	\$46.36
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$46.36
			Avg Payrate		\$13.00
_embke,	, Bella				
ob Title		Pay Rate		lours Tota	
	OC - Server		\$0.00	6.05	\$0.00
	Sales: \$1,072.84		Total Claimed Tips	6.05	\$0.00
	Credit Tips: \$168.15		Gratuity		\$58.47
	Create 11p3. 9200.23		Grand Total		\$226.62
			Avg Payrate		\$37.47
Loosen,	Allison				
ob Title		Pay Rate	Н	ours Tota	I
		,	Total	0.00	\$0.00
	Sales: \$721.38		Claimed Tips		\$42.16
	Credit Tips: \$42.16		Gratuity		\$0.00
			Grand Total		\$42.16
			Avg Payrate		\$0.00
Loosen,	Grace				
ob Title		Pay Rate		ours Total	
			Total	0.00	\$0.00
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity Grand Total		\$0.00 \$0.00
			Avg Payrate		\$0.00
			Avgiayiate		Ψ0.00
M = = D = ==	ald Cat				
	ald, Cat	Day Data	.,	. 7-4-1	
	•	Pay Rate	Hour \$7.25		\$131 70
	OC - Server	Pay Rate	\$7.25	18.18	
	OC - Server	Pay Rate	\$7.25 Total		\$131.78
	OC - Server Sales: \$1,098.06	Pay Rate	\$7.25 Total Claimed Tips	18.18	\$131.78 \$160.85
	OC - Server	Pay Rate	\$7.25 Total	18.18	\$131.78 \$160.85 \$27.27
	OC - Server Sales: \$1,098.06	Pay Rate	\$7.25 Total Claimed Tips Gratuity	18.18	\$131.78 \$160.85 \$27.27 \$292.63
ob Title	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58	Pay Rate	\$7.25 Total Claimed Tips Gratuity Grand Total	18.18	\$131.78 \$160.85 \$27.27 \$292.63
ob Title Martin,	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate	18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10
ob Title Martin,	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58	Pay Rate Pay Rate	\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate	18.18 18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10
ob Title Martin,	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate	18.18 18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10
ob Title Martin,	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58 Sophia		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate Ho Total Claimed Tips Gratuity	18.18 18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10 \$0.00 \$0.00 \$0.00
ob Title Martin,	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58 Sophia Sales: \$0.00		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total	18.18 18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10 \$0.00 \$0.00 \$0.00
ob Title Martin,	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58 Sophia Sales: \$0.00		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate Ho Total Claimed Tips Gratuity	18.18 18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10 \$0.00 \$0.00 \$0.00 \$0.00
ob Title Wartin, ob Title	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58 Sophia Sales: \$0.00 Credit Tips: \$0.00		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total	18.18 18.18	\$131.78 \$160.85 \$27.27 \$292.63 \$16.10 \$0.00 \$0.00 \$0.00
MacDon ob Title Martin, ob Title Neusen, ob Title	OC - Server Sales: \$1,098.06 Credit Tips: \$133.58 Sophia Sales: \$0.00 Credit Tips: \$0.00		\$7.25 Total Claimed Tips Gratuity Grand Total Avg Payrate Ho Total Claimed Tips Gratuity Grand Total	18.18 18.18 Durs Total 0.00	\$131.78 \$131.78 \$160.85 \$27.27 \$292.63 \$16.10 \$0.00 \$0.00 \$0.00 \$0.00

	OC - Dishwasher		\$13.00	7.22	\$93.88
			Total	7.22	\$93.88
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$93.88
			Avg Payrate		\$13.00
lielsen,	Hannah				
b Title ´		Pay Rate	Hours	Total	
	Default Job Code	•	\$30.00	25.09	\$752.71
			Total	25.09	\$752.71
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
	• •		Grand Total		\$752.71
			Avg Payrate		\$30.00
man 1	Tyler				
man, 1 b Title	i yici	Pay Rate	на	ours Tota	ıl.
in Title		r ay nate	Total	0.00	\$0.00
	Sales: \$0.00		Claimed Tips	0.00	\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
	Credit Tips. 30.00		Grand Total		\$0.00
			Avg Payrate		\$0.00
	_		Avgiayiate		70.00
wens,	Grace				
b Title		Pay Rate		ours Tota	
	Food Runner		\$0.00	8.97	\$0.00
	OC - Host		\$0.00	4.34	\$0.00
			Total	13.31	\$0.00
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$0.00
			Avg Payrate		\$0.00
eichert	t, Laura				
b Title	,	Pay Rate	Hou	rs Total	
	OC - Dishwasher		\$15.00	5.59	\$83.81
			Total	5.59	\$83.81
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$83.81
			Avg Payrate		\$15.00
dar al	acet				
der, gl	iost	D D-4-		T -4	-1
ob little	Dofault lab Cada	Pay Rate		ours Tot	
	Default Job Code		\$0.00	10.93 10.93	\$0.00
	Salas, ¢0.00		Total Claimed Tips	10.55	\$0.00
	Sales: \$0.00				\$0.00 \$0.00
	Credit Tips: \$0.00		Gratuity Grand Total		\$0.00
			Avg Payrate		\$0.00
OGERS	S, NYA				
b Title		Pay Rate	Hou		
	OC - Dishwasher		\$12.00	4.71	\$56.48
			Total	4.71	\$56.48
	Sales: \$0.00		Claimed Tips		\$0.00
	Credit Tips: \$0.00		Gratuity		\$0.00
			Grand Total		\$56.48
			Avg Payrate		\$12.00
ogness	. Lexi				
b Title	,	Pay Rate	Ho	ours Tota	ıl
		, .,	Total	0.00	\$0.00
			Claimed Tips		\$0.00
	Sales: \$0.00				\$0.00
	Sales: \$0.00 Credit Tips: \$0.00		Gratuity		
			Gratuity Grand Total		\$0.00
aka - 4	Credit Tips: \$0.00		Gratuity		\$0.00
akac, A	Credit Tips: \$0.00		Gratuity Grand Total Avg Payrate		\$0.00
akac, A	Credit Tips: \$0.00	Pay Rate	Gratuity Grand Total Avg Payrate Hours		\$0.00 \$0.00
akac, A	Credit Tips: \$0.00	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00	12.16	\$0.00 \$0.00 \$170.31
akac, A	Credit Tips: \$0.00 Alea OC - Dishwasher	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total		\$0.00 \$0.00 \$170.31 \$170.31
akac, A	Credit Tips: \$0.00 Alea OC - Dishwasher Sales: \$0.00	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total Claimed Tips	12.16	\$0.00 \$0.00 \$170.31 \$170.31 \$0.00
akac, <i>A</i> bb Title	Credit Tips: \$0.00 Alea OC - Dishwasher	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total Claimed Tips Gratuity	12.16	\$0.00 \$0.00 \$170.31 \$170.31 \$0.00 \$0.00
akac, <i>A</i> bb Title	Credit Tips: \$0.00 Alea OC - Dishwasher Sales: \$0.00	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total Claimed Tips Gratuity Grand Total	12.16	\$0.00 \$0.00 \$170.31 \$170.31 \$0.00 \$170.31
akac, A	Credit Tips: \$0.00 Alea OC - Dishwasher Sales: \$0.00	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total Claimed Tips Gratuity	12.16	\$0.00 \$0.00 \$170.31 \$170.31 \$0.00 \$170.31
akac, A	Credit Tips: \$0.00 Alea OC - Dishwasher Sales: \$0.00 Credit Tips: \$0.00	Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total Claimed Tips Gratuity Grand Total	12.16	\$0.00 \$0.00 \$170.31 \$170.31 \$0.00 \$170.31 \$14.00
	Credit Tips: \$0.00 Alea OC - Dishwasher Sales: \$0.00	Pay Rate Pay Rate	Gratuity Grand Total Avg Payrate Hours \$14.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	12.16	\$0.00 \$0.00 \$170.31 \$170.31 \$0.00 \$170.31 \$14.00

Sales: \$0.00		Claimed Tips			\$0.0
Credit Tips: \$0.00		Gratuity			\$0.0
		Grand Total			\$0.0
		Avg Payrate			\$0.0
Stanossek, Nina					
lob Title	Pay Rate		ours	Total	
OC - Bartender		\$10.00		5.66	\$56.6
Sales: \$328.31		Total Claimed Tips		5.66	\$56.6
Credit Tips: \$57.00		Gratuity			\$57.0 \$0.0
Credit Tips: \$57.00		Grand Total			\$113.6
		Avg Payrate			\$20.0
Stuettgen, Alex					
lob Title	Pay Rate	Н	ours	Total	
OC - Bartender	,	\$15.00	8.	38	\$125.
		Total	8.	38	\$125.
Sales: \$1,542.35		Claimed Tips			\$130.0
Credit Tips: \$130.00		Gratuity			\$0.0
		Grand Total			\$255.3 \$30.5
		Avg Payrate			\$ 5 0.:
Stuettgen, James					
Job Title	Pay Rate		Hours	Total	ćo.
Salas: ¢0.00		Total		0.00	\$0.0
Sales: \$0.00 Credit Tips: \$0.00		Claimed Tips Gratuity			\$0.0 \$0.0
credit rips. 30.00		Grand Total			\$0.0
		Avg Payrate			\$0.0
Stuettgen, Max		<u> </u>			
Job Title	Pay Rate		Hours	Total	
TOD TITLE	ray Nate	Total	iiouis	0.00	\$0.0
Sales: \$0.00		Claimed Tips		0.00	\$0.0
Credit Tips: \$0.00		Gratuity			\$0.0
		Grand Total			\$0.0
		Avg Payrate			\$0.0
TECH SUPPORT, MKE POS					
Job Title	Pay Rate		Hours	Total	
		Total		0.00	\$0.0
Sales: \$0.00		Claimed Tips			\$0.0
Credit Tips: \$0.00		Gratuity			\$0.0
		Grand Total			\$0.0
		Avg Payrate			\$0.0
Thoenes, Chris					
Job Title	Pay Rate		Hours	Total	
6.1. 60.00		Total		0.00	\$0.0
Sales: \$0.00 Credit Tips: \$0.00		Claimed Tips Gratuity			\$0.0 \$0.0
Credit Tips: 30.00		Grand Total			\$0.0
		Avg Payrate			\$0.0
Valarrusa Carrada		Avgrayiate			70.
Velazquez, Gerardo	D D			T-4-1	
OC - Cook	Pay Rate	\$0.00	Hours	Total 22.88	\$0.0
00 - COOK		Jo.00 Total		22.88	\$0.0
Sales: \$0.00		Claimed Tips			\$0.0
Credit Tips: \$0.00		Gratuity			\$0.0
· ·		Grand Total			\$0.0
		Avg Payrate			\$0.0
VELAZQUEZ, JUAN					
Job Title	Pay Rate		Hours	Total	
		Total		0.00	\$0.0
Sales: \$0.00		Claimed Tips			\$0.0
Credit Tips: \$0.00		Gratuity			\$0.0
		Grand Total			\$0.0
		Avg Payrate			\$0.0
Weis, Abbey					
Job Title	Pay Rate		ours	Total	
OC - Dishwasher		\$15.00		4.63	\$69.
		Total		4.63	\$69.
Sales: \$0.00		Claimed Tips			\$0.0
Credit Tips: \$0.00		Gratuity Grand Total			\$0.0
		Grand Total			\$69.
		Avg Payrate			\$15.0

Wojo, Susie			
Job Title	Pay Rate	Hours	Total
		Total 0.	.00 \$0.00
Sales: \$0.00	Claim	ed Tips	\$0.00
Credit Tips: \$0.00	G	iratuity	\$0.00
•	Gran	d Total	\$0.00
	Avg I	Payrate	\$0.00
Z, Nick			
Job Title	Pay Rate	Hours	Total
		Total 0.	.00 \$0.00
Sales: \$0.00	Claim	ed Tips	\$0.00
Credit Tips: \$0.00	G	iratuity	\$0.00
•	Gran	d Total	\$0.00
		Payrate	\$0.00